


L.o1 des cosinus

62:h2+(b—$)2 B a2—h2—|—£€2
h =c* — (b—x)° h? =a® — z°
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a* — 2" =" — (0" — 2bx + 27) = = cosC
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a® = c° — b° + 2bx
r = acos(C

¢ =a’+b> —2abcosC
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¢ =10° + 4% — 10 x 4 X cos 30°
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:100+16—40><§

=116 — 20 x V3
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0=15%2—2x V75 x 15cos A

152 =2 x V75 x 15cos A

15=2x vV75cos A

15 15 B 15 9
2% V75  2X V3 x V25 _2><\/§><5_2><\/§

_VBxV3 V3 A=30° C=30°
2% V/3 2 B = 180° — 30° — 30° = 120°

cos A =




L.o1 des sinus

h

sin A = — sin ' = E
C a

fip = esin A hi = asinC

. ho h

sin A = b sin B = —=2

a
ho =bsinA ¢ hy =asin B

csin A = asin C asin B =0bsin A

sinA sinC sin B

a C B



30°

0 = 180° — 30° — 45°= 105°

sin 30° sin 45°

b 12

, 12 xsin30° _12><%

sin 45° \/T§

xlxi 12 122 122
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6 = 105"

sin 105° sin 45°

a 12
. 12 x sin 105° 12 x sin 105°
~ gin4je V2
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- 24 X sin 105°
V2

— 12 X V2 X sin 105°



6 = 105" S
a =12 xV2xsin105° =12 x v/2 x ﬂ(ljx/g)
sin 105° = sin(45° + 60°)
= sin(45°) cos(60°) + sin(60°) cos(45%)
V2 1 V3 V2
= - 2

1
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V2+V3x V2  V2(1+V3)
4 4



6 = 105" .

o =12 x V2 xsin105° — 12 x v/2 x ﬂ(ljx/g)

=3 x V2x V2(1+V3) =6(1+ V3)

V2(1+ v3)

sin 105° =



Faites les exercices suivants
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